### Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINA L September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33392	API No. 15 - 119-20621-00-01
Name: Keith F. Walker Oil & Gas Company, L.L.C.	Country Meade
Address: 103 West Boyd	SW_NW Sec. 9 Twp. 31 S. R. 30 ☐ East ✓ West
City/State/Zip: Norman, OK 73069	1980 feet from S / (N) (circle one) Line of Section
Purchaser: DCP Midstream-Gas and NCRA- Oil	760 feet from E / W (circle one) Line of Section
Operator Contact Person: Sonya King	Footages Calculated from Nearest Outside Section Corner:
Phone: (405 ) 701-0676	(circle one) NE SE NW SW
Contractor: Name: Kenai Mid-Continent	Lease Name: Hobart Well #: 9A #1R
License: 34000	Field Name: Not named
Wellsite Geologist: Mike Rice	Producing Formation: Chester
Designate Type of Completion:	Elevation: Ground: 2767' Kelly Bushing: 2779'
New Well Re-Entry Workover	Total Depth: 6000' Plug Back Total Depth: 5946'
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 1594 Feet
Gas MENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator: Calvin Exploration Corp.	fact don't to
Well Name: Hobart #1-9A /9-A	AIL (-DIG -7/22/09
Original Comp. Date: 1983 6/23/riginal Total Depth: 6000'	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf. Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used_Evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Location of field disposal if fladied offsite.
Other (SWD or Enhr.?) Docket No	Operator Name:
11/09/2008 11/13/2008 12/15/2008	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
7- VB	
Kansas 67202, within 120 days of the spud date, recompletion, worker information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, wer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-105 and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements  KCC Office Use ONLY
Signature: Date: 03-03-2009	Letter of Confidentiality Received
Subscribed and sworn to before me this 3 day of March	If Denied, Yes Date:
20 09	Wireline Log Received KANSAS CORPORATION COMMISS  Geologist Report Received
Notary Public: Lebecca Classy	# 05010415 UIC Distribution JUN 1 9 2009
Date Commission Expires: 11.10.09	RECEIVED

Operator Name: Ke	erator Name: Keith F. Walker Oil & Gas Company, L.L.C. Lease Name: Hobart						Well #: 9A #1R				
Sec. 9 Twp. 3	31 S. R. 30	Eas	t West	Cou	unty: Mead	le		<del></del>			
NSTRUCTIONS: S ested, time tool ope emperature, fluid re Electric Wireline Log	n and closed, flowir covery, and flow rate	ng and shu es if gas to	t-in pressures, surface test, a	whethe	r shut-in pre	essure reached	static level, hydro	ostatic pressui	es, botto	m hole	
Orill Stem Tests Take	∕es ☑ No			og Formatio	and Datum Sample						
Samples Sent to Geological Survey			es 🗹 No		Nam Che:			Top D <b>5416</b> '			
Cores Taken		□ Y	es ✓ No es ✓ No								
List All E. Logs Run:						. <del>-</del>					
		Repo	CASING		_	ew Used	ion etc.				
Purpose of String	Size Hote Drilled	Siz	ze Casing t (In O.D.)	V	Veight	Setting Depth	Type of Cement	# Sacks Used		and Percent	
	Diffied	00	t (III O.D.)		55.711.	Борит	Centent	Used	<del>                                     </del>	Junives	
				1							
Production		4 1/2"	· · · · · · · · · · · · · · · · · · ·	11.6#	‡/J-55	6000'		215			
			ADDITIONAL	CEMEN	ITING / SQL	JEEZE RECORD					
Purpose: Perforate	Depth Top Bottom	Type of Cement		#Sacks Used		Type and Percent Additives					
Protect Casing Plug Back TD Plug Off Zone											
Shots Per Foot			RD - Bridge Plug		pe		ture, Shot, Cement		rd		
	Specify Chester 5416'-5	·····	Each Interval Per	forated		(Am	ount and Kind of Ma	terial Used)		Depth	
	Citester 54 10 -5	400	<del> </del>								
				<u> </u>				KAN	SAS CORP	<del>)ration comm</del> is	
			·	•					JUN	1 9 2009	
	<del> </del>					- 1. W " 1			REC	EIVE	
TUBING RECORD	Size 3/8"	Set At 5411'		Packe	er At	Liner Run	Yes No				
Date of First, Resumero			Producing Met								
02/04/2009 Estimated Production	Oil	Bbls.	Gas	Mcf	✓ Flowing Wate			t Other	er (Explain)	Gravity	
Per 24 Hours	12	DOIG.	1076		37	·	G	ao On Fiano		Gravity	
Disposition of Gas	METHOD OF C	COMPLETIC	)N			Production Interv	al				
Vented ✓ Sold (If vented, Sul	Used on Lease bmit ACO-18.)		Open Hole Other (Special	√ Pe	erf. D	ually Comp.	Commingled				



# Confidential

KANSAS STATE COMMISSION Oil & Gas Division 130 S. Market, Room 2078 Wichita, KS 67202

March 3, 2009

RE: Hobart 9A #1R

Section 9-31S-30W Meade County, Kansas : API: 15-119-210621-00-01

To Whom It May Concern:

Enclosed please find one original and two copies of the following KCC forms for the above referenced well:

- Form ACO-1, Well Completion Report
- J & L Cementing Tickets for Production

Form CG-1 Multipoint Back Pressure Test

Form G-2 Singlepoint Back Pressure Test

Please hold the enclosed information confidential for the MAXIMUM ALLOWABLE, TIME PERIOD of TWO YEARS. This information should be released no earlier than March 3, 2011.

Please contact me should you have any questions or require any further information. Thank you.

Sincerely.

KEITH F. WALKER OIL & GAS COMPANY, L.L.C.

Sonya King 103 West Boyd Street Norman, OK 73069

Office: 405.701.0676, ext. 101

Fax: 405.310.5075 Email: sking@kfw.gs KANSAS CORPORATION COMMISSION

JUN 19 2009 RECEIVED

· •				) .	*				) ·				
TE Y	,	J & L Ce	menting	Servic	e. LLC		Invoice	Number	2274		**** <u></u>		
J & L Cementing Service, LLC  Job Type: 4 1/2 Longstring					TO BEAUTINE TO SERVE	300	) Date	11/12/2008					
				v				og Page		1/	OF /1	enter personalis (ile	
Charge To: I	Keith Walke	)[	Promonent de consultant	and the second		Lease Na	me: Ho	bart 9A-	1R				
on E.E. santo Africa		Yes	No	N/A	Comments		New/ Used	Weight	Size	From	То	Max PSI Allowed	
Cement Circulate	ed to Surface		Х			Casing	New	11.6	4 1/2	Surf	6007.59	3000	
Well Circulat		Χ				Tubing							
Plug Landed Float(S) Held		X				Open Ho Perforation			7 7/8	Surf			
Plug Containe		$\frac{\hat{x}}{x}$				Displace		epth	L				
Amount (Sk -	a di anggang di kacamatan di kac	ere en	Slurry/Flui	d Compositio	ท			Yield (ft/sk)	Mix Ratio	Density (lb/gal)	Mix Water (BBLS)	Slurry Vol (BBLS)	
Gal - BBL) (	Class H + 409/	Gypsum +10%	Calt (DIA(O)	M) + 10ppe (	Pileonite + 7	'5 CEL -110 +	1/4 Sea	(IUSK)	(gal/sk)	(iu/gai)	(DDLO)	(DDC3)	
13	Class n + 10%	Gypsuni + 107	6 Sail (BVVO)	M) + Topps C	onsonite	3 Of E-110 .	174 CCU.						
215	Same As Al	bove											
	Rate	Volume	Pressu	re (PSI)		er ye se ara laya .	Santa Harak da Ka	Doc	cription	Construction observation 2 in a			
Time	(BPM)	(BBL)	Tubing	Casing	and the second s		and XI is not a	Des	cription	San Jan San San			
12:00PM					Arrive at	location a	nd rigge	ed up.					
					Drime un	numn tru	ck then	n conduct saftey meeting.					
12:15 PM					Finne up	partip tra	SK GIGIT	<del>oondaat</del>	sarroy mo	g.			
2:30 PM	4	11		0	0 Scavenger								
		64		100	Pump Le	ad	check the second second						
2:35 PM	4	61		100						·			
2:55 PM					Wash P	<u>@</u> L							
3:00 PM	5	92.5		200	0 Displace								
				4000	D DI								
3:30PM				1000	Bump Pl	ug	i						
					ļ				Arrest Carlotte		- <u></u>		
3:35PM					Check F	loats (Held	i)	· · · · · · · · · · · · · · · · · · ·					
9.1													
	· · · · · · · · · · · · · · · · · · ·		·				ا المستحد المس						
-				<del> </del>	<u> </u>							<del>,</del>	
												A RIPPIPIE	
										KANSAS COR	PORATION COM	MUSSIUM	
				<b> </b>						111	N 19 200	19	
					<del>                                     </del>						CEIVE		
				<del> </del>					·	0 <i>M</i> Reco			
4.00014					lob C==	nioto			<del></del>				
4:30PM		!	1	1	Job Con	ihiere							

Prepared for Keith Walker Hobart 9A #1R Barry Jones Meade Co., KS



Prepared by J & L Cementing Service, LLC Brad Kirchner P.O. Box 848 Shattuck, OK 73853 580-938-2205 Office 580-938-2915 Fax

### TICKET#2274

#### Hobart 9A #1R

4 1/2" Production									
Description		Units of Sale	Unit Cost	Total Cost					
DOT Unit Mileage - per unit, per one way mile	60	ut-mi	\$ 6.95	\$	417.00				
Non-DOT Unit Mileage - Per unit, Per one way mile	30	ut-mi	\$ 3.97	\$\$	119.10				
Bulk CMT Delivery - Per SK, Per one way mile	8100	sk-mi	\$ 0.16	\$	1,296.00				
Bulk Blending Service	270	sk		\$	734.40				
Cementing Services - Per Unit, Per Job	1	ut-job		\$	1,100.00				
Monitoring / Recording System - each, per job	1	ea	\$ 1,300.00	\$	1,300.00				
Depth Pumped 6,000' to 6,499' - first 4 hours, per unit	1	unit	\$ 4,250.00	\$	4,250.00				
Recirculating Cement Mix System (RCMS) - each, per job	1	ea		\$	700.00				
Cement "H" - per sack	270	sk	\$ 34.29	\$	9,258.30				
U.S. Gypsum - per pound	2538	lb	\$ 1.05	\$	2,664.90				
Sodium Chloride (NaCl) - per pound	1457	lb	\$ 0.45	\$	655.65				
CFL - 110 - per pound	190	lb	\$ 21.10	\$	4,009.00				
Gilsonite - per pound	2700	lb		\$	3,375.00				
Seal Flake - per pound	68			\$	289.00				
Caustic Spacer - per gallon	840	gal	\$ 2.05	\$	1,722.00				
Turbolizer 4 1/2 X 7 7/8 - each	25	ea	\$ 264.25	\$	6,606.25				
Canvas Cement Basket 4-1/2 - each	2	ea	\$ 355.00	\$	710.00				
Float Shoe 4-1/2 - each	1	ea		\$	992.00				
Latchdown Baffle 4-1/2 - (1.870) - each	1	ea	\$ 873.00	\$	873.00				
Latchdown Flex Plug 4-1/2 - (2.00) - each	1	ea	\$ 873.00	\$	873.00				
Stop Ring 4-1/2 - each	1	ea	\$ 86.05	\$	86.05				
Thread Locking Compound - each	1	ea	\$ 150.00	\$	150.00				
Foam - Cleaner 100 - per gallon	5	gal		\$	630.00				
Plug Container / Swedge HP Single - each, per job	1	ea		\$	675.00				
Fuel Surcharge - as applied 7%	1	job	\$ 1,217.60	\$	1,217.60				

Gross Price \$ 44,703.25

60.00% Special Discount Applied \$ 17,881.30

**Customer Signature** 

J & L Cement Supervisor Torrey Mawk

KANSAS CORPORATION COMMISSION

JUN 19 2009 RECEIVED